



اسم: _____

التاريخ: _____ النتيجة _____

$$\left(\frac{3}{4}\right) + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^3 + \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right) - \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^0 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$\left(\frac{3}{4}\right) + \frac{1}{6} = \frac{11}{12}$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{5} = \frac{13}{40}$$

$$\left(\frac{1}{4}\right)^3 + \frac{3}{5} = \frac{197}{320}$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{2} = \left(-\frac{109}{250}\right)$$

$$\left(\frac{2}{5}\right) + \frac{1}{2} = \frac{9}{10}$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{67}{125}\right)$$

$$\left(\frac{3}{4}\right) + \left(-\frac{3}{5}\right) = \frac{3}{20}$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{2} = \frac{109}{216}$$

$$\left(\frac{1}{5}\right) - \frac{3}{5} = \left(-\frac{2}{5}\right)$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(\frac{1}{5}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(\frac{3}{5}\right)^2 - \frac{2}{5} = \left(-\frac{1}{25}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{5}\right) = \frac{29}{80}$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{4} = \left(-\frac{9}{100}\right)$$

$$\left(\frac{1}{4}\right)^2 + \frac{2}{5} = \frac{37}{80}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{4}{45}\right)$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{2}{9}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$